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Agt_Init{
my.X = 25
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Agt_Step{
forward(1)
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Agt_Step{ }

Agt_Init{

my.X = 25

my.Y =1
my.Direction = 90

}

Agt_Step{
IT 30 == getcountstep() then
my.Direction = rnd()*360
Else
forward(1)
End if

}

hanabi
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Agt_Step{
If 30 == getcountstep() then

If rnd) > 0.5 then
0

My.Direction
else

My.Direction = 180
End if
Else
forward(1)

End if
}

rnd() >0.5 rnd
rnd >0.5 50

My.Direction
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Agt_Init{

my.X = rnd()*50

my.Y = rnd()*50
my.Direction = rnd()*360
}

Agt_Step{
MakeAl 1AgtsetAroundOwn(my.Neighbor, 2, False)
If 3 <= CountAgtset(my.Neighbor) then

Else
foward(1)
End if

}

Agt_Init{ }
rnd()

MakeAl IAgtsetAroundOwn(my.Neighbor, 2, False)

77777 End if
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MakeAl 1AgtsetAroundOwn(my.Neighbor, 2, False)
IT 3 <= CountAgtset(my.Neighbor) then

false True

MakeAl 1AgtsetAroundOwn(my.Neighbor, 2, True)
IT 4 <= CountAgtset(my.Neighbor) then

IT 3 <= CountAgtset(my.Neighbor) then

Else
Forward(1)
End if

IT 3 > CountAgtset(my.Neighbor) then
Forward(1)
End if
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Universe

Univ_Init{ }

ninzu

Univ_Init{

}

Univ_Init{

Dim i as Integer

For i = 0 to Universe.ninzu-1
CreateAgt(Universe.Hiroba.hito)

Next i

}

Dim i as Integer
as integer

Univ_Init{}
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For i = 0 to Universe.ninzu =1 XXXXX Next i

For i = 0 to Universe.ninzu -1

XXXXX
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Universe.soba Universe.nakama
Agt_Init{
my.X = rnd()*50
my.Y = rnd()*50
my.Direction = rnd()*360
}
Agt_Step{

MakeAl 1AgtsetAroundOwn(my.Neighbor, Universe.soba, False)
If Universe.nakama <= CountAgtset(my.Neighbor) then

Else
foward(1)
End if

}

MakeOneAgtsetAroundOwn

MakeOneAgtsetAroundOwn(my.Neighbor, Universe.soba, Universe_Hiroba.hito, False)
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Universe.soba Universe.nakama
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hito Agt_Init{ }
my.X = rnd()*50
my.Y = rnd()*50
Universe Univ_Init{ }




Dim Hitobito as Agtset
MakeAgtset(Hitobito, Universe.Hiroba.hito)
RandomPutAgtset(Hitobito)
Hitobito (as Agtset)
hito Hitobito

Hitobito

Dim XXXX as integer Dim YYYYY as Agtset

Univ_Init

Universe

50x50 RandomPutAgtset()
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Universe Universe_Step Begin{ }

Univ_Step_Begin{
Universe.tachidomari = 0

¥

Univ_Step Begin{ }

tachidomari
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hito

Universe.tachidomari = Universe.tachidomari + 1

IT Universe.nakama <= CountAgtset(my.Neighbor) then
Forward(0)
Universe.tachidomari = Universe.tachidomari + 1
else

Universe.tachidomari = Universe.tachidomari + 1
forward(0)

artisoc =
Universe.tachidomari
Universe.tachidomari

Universe.tachidomari Universe_Step Begin

hito
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tachidomari

Universe_Step End{}

Universe_Step_End{

If Universe.ninzu == Universe.tachidomari then
Exitsimulation()
End if

Exitsimulation()

hito (ninzu) tachidomari ==



Universe_Step End{}

Univ_Step_End{

IT Universe.ninzu == Universe.tachidomari then

Exitsimulation()

PrintLn(""Simulation Completed at " & Getcountstep() & "Steps™)
End if

PrintLn("'Simulation Completed at" & Getcountstep() & "Steps')
"Simulation Completed at" Getcountstep()

"Steps" Getcountstep()

ExitsimulationMsgLn(Simulation Completed at" & Getcountstep() &
IIStepSI I)
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Universe_Step End{

IT Universe.ninzu == Universe.tachidomari then
Exitsimulation()

End if

}

Universe_Finish{
PrintLn("Simulation Completed at™ & Getcountstep() & "Steps™)

Universe_Finish{}
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Agt_Init{

my.X = rnd()*6
my.Y = rnd()*5
my.Direction = 30

}

Agt_Step{
forward(0.3)
}
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Agt_Init{
Int(rnd()*6)
Int(rnd()*5)

my.X

my.Y
}

Agt_Step{
ForwardDirectionCell1(0, 1)
}

Direction
Direction

cell

ForwardDirectionCell1(0, 1)

ForwardDirectionCell()
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Universe Gekijo 10x20

Universe Kankyaku

Gekijo hito

Kankyaku

Eigakan

Univ_Init

Kankyaku

Univ_Init{

Dim i1 as integer

For 1 = 0 to Universe.Kankyaku-1
CreateAgt(Universe.Gekijo.hito)

Next i

}
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Agt_Step{

Dim Mawari as Agtset

MakeAl 1AgtsetAroundOwnCell(Mawari, 1, false)

IT 4 <= CountAgtset(Mawari) then
MovetoSpaceOwnCel 1 (3)

End if
}
MakeAl IAgtsetAroundOwnCel I (Mawari, 1, false)
MakeAl 1AgtsetAroundOwn() (cell) MovetoSpaceOwnCell(3)

2 | 1 | 2
2 1 f/rmh‘b\ 1 2
N
2 1 1 1 2
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Agt_Init{

my.kyukutsu = 4 + Int(rnd()*4)
my.kyorokyoro = 2 + Int(rnd()*2)
}

Agt_Step{

Dim Mawari as Agtset

MakeAllAgtsetAroundOwnCell(Mawari, 1, False)

IT my.kyukutsu <= CountAgtset(Mawari) then
MovetospaceOwnCel I (my.kyorokyoro)

End if

}

Agt_Init{
my.kyukutsu = 4 + Int(rnd()*4)
my .kyorokyoro = 3 — my.kyukutsu/6

}
my . kyukutsu my .kyukutsu /6
my , kyorokyoro (kyukutsu
(kyukutsu )

65



Universe

Universe

Hito

Manzoku

IT my_kyukutsu <= CountAgtset(Mawari) then
MovetospaceOwnCel 1 (my.Kkyorokyoro)
Else
Universe.manzoku = Universe.manzoku + 1
End if

®

Eigakan
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Univ_Step End{
IT Universe.manzoku >= Universe.Kankyaku then
Exitsimulation()

Elseif 100<= Getcountstep() then
Exitsimulation()
Else

End if
¥

IT Universe.manzoku >= Universe.Kankyaku then

Exitsimulation()

PrintLn("All guests satisfied at " & Getcountstep() & " steps™)
Elseif 100<= Getcountstep() then

Exitsimulation()

PrintLn("Not all guests satisfied until 100 steps™)
End if
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Universe chesshoard
chessboard penny dime
Universe satisfied

chesshoard

satisfied

shellingoriginal

Univ_Init{

Dim i as Integer
Dim coin as Agtset

For i = 0 to 22
CreateAgt(Universe.chesshoard.penny)

Next i

For i =0 to 21
Createagt(Universe.chessboard.dime)

Next i

MakeAgtsetSpace(coin, universe.chessboard)
RandomPutAgtsetCell(coin, false)
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Agt_Init{
}
Agt_Step{

Dim Neighbor as Agtset

MakeOneAgtsetAroundOwnCel I (Neighbor, 1, Universe.chesshoard.penny,
false)

If 3 <= countagtset(neighbor) then
Universe.satisfied = Universe.satisfied + 1

Else
MovetospaceOwnCel 1(2)

End if
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(dime)

Agt_Init{

}
Agt_Step{

Dim Neighbor as Agtset

MakeOneAgtsetAroundOwnCel I(Neighbor, 1, Universe.chesshoard.dime,
false)

If 3 <= countagtset(neighbor) then
Universe.satisfied = Universe.satisfied + 1

Else
MovetospaceOwnCel 1(2)

End if

Univ_Step_Begin{
Universe.satisfied = 0

}
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Univ_Step End{

If 45 == universe.satisfied then

Exitsimulation()

PrintLn("Every one satisfied at " & getcountstep() & " steps™)
Elseif 100<= getcountstep() then

Exitsimulation()

PrintLn("Not all satisfied until 100 steps™)
End if
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Universe stranger
Univ_Step_Begin

penny  dime

Universe.stranger = Universe.stranger + Countagtset(neighbor)

Bunkyodo

100*(8*45 - Universe.stranger)/(8*45)
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